1]

13

M
53

an BH &£

iy
=]
uy!
¢_‘|4
S

B

%R




7AN =u WA
ST AEEBRERBETFTERERFEE
1. BABEHTE (B B 5 )
% H 1 s ) T
x5 %H  n
i EE E| L |8 ow ame R | #AkL | E B | e | NP LR | KR
ToE oE e E T |aMe AW e T RE E M &I A AR A e R L
—_ o E
(iﬂ*,xg., A75317 | 585509 510282 | 1267 (A221) 27,760 (A988) 1758 " (A62,487) 5,361 (A40,673)  (A104,369) (29,052)
11,145 41,666 97,936 176,290 363,193 147,089
TR A1,084 25,755 24,671 0 0 8 17 | 1,740 0 (A455) 206 0 (£455) (£629)
6,123 8,094 16,577
ExEEE | AbB1,404 | 374,221 | 322,817 1,267 (A221) 13,441 (A7,559) 0 0 (Ad2,718) 2,118 (£27,307) (A77,805) (26,401)
10,555 24,566 56,384 119,220 227,551 95,266
ingEEE | A16,702 | 113,359 96,657 0] 373 3,227 (6,573) 18 0 (A17,634) 1 (£9,876) (£20,937) (4,235)
13,787 34,339 35,599 87,344 9,313
NPk A6,127 72,264 66,137 0 217 11,084 (L2) 0 10 (A1,680) 3,036 (£3,490) (A5,172) (£955)
3,296 1,090 21,471 40,204 25,933

() H5ERHRAR f U225 | — R TR o b B (

JIFAEHIES THESTHD,




— ik = & & A &%

T R



SHAEE —BREFFH(EAKRE) TERER
% (A BT )
X oo MIETHEE | EETHERHE #t moOE T ®H o # =
— e EH (L KRE) A75,317 585,599 510,282 X 4 |WETEmEEETEE
W B F % A15,124 88,671 73,547 R R 107| ~ 80,088] 80,195
#OHom E % /60,193 496,928 436,735 AR | AT5424] 505511 430,087
+ ok B om % A1,084 25,755 24,671 | FF&ORE(EE B 5B 4 FIE
B O OB B B A51,404 374,221 322,817 | EHOMIE, WLk, #E, HROBHECET 2% B4 T E
SIS TR S =S A16,702 113,359 96,657 | HUINAIIOIKAE , BEIBEEINERE DR CE S SR B A E
N E % AB,127 72,264 66,137 | 2B, BWE LS CET R ELFE
e A (B JR N ER ) (AL 5 )
X 5 MHIETHEE | BEETHERE #t MoOE T ®H o #H =
5 i fif W A104,369 467,562 363,193
BB o & 0 1,267 1,267
AN i N o A = W = N221 11,366 11,145 | Ef AR EFEXTRESELEE
OB R F %R 0 27,760 27,760
E X M & AN\988 42,654 41,666 | HTREE( [E E B &5 A IE
B I A 0 1,758 1,758
5 i) & 0 10 10
| A & 62,487 160,423 97,936 | A EALEHELELMALLELFE
i I A 0 5,361 5,361
gl & A40,673 216,963 176,290 | LAMAE E G T EAHIEIC L B4R
Z5l — &M IJE KT Y HE 29,052 118,037 147,089 | it T EM ISR

X5 R e D BRI L HEE B AR S (ST T 9572

_2_

R BB LSO EEFETVRL £ DO A £22,984 5 7 H R -




THAEE BETER

1 B . )
= kA H & i
&5 = &
ERlD BV
B ORER OGEF LD
1. & & N R
(1)} B OV F 24 58 E M
1 & N 58 17,026
(+ &K & #)
faran
B
ST O 7 & E i | B AR DA
1. & & N &R
nyr = % A 440 F5H
Q% 3 % A 3 EFH
HEa #H £ A 53 HFH
2 Ir & ¥ 7N A 517 869 | W&k B & =% A 21 5FH
& A 517 55M
7 i

\




THAEE RETER

1 1E Sis B B E . B}
5 g B B, H
7 w £ H % & | TEmE t : ¢
G ERIL] B
REHDOIEAIZE T HIRE DR
1. & & N R
Ll ##® # A 625 G5 M
A %
3 Ut B o O OAl £ K B OB OBl A625 1,122 497
A=A AN ¢
BB OEE R O F Y DE F
1. & & N R
(DB R EFTY 48 B M
A %
4 & B OK OB 7 E 48 2,773 2,821
(1B ¥ B 2
B piiil #




THAFEE RETHER

1 1E ¥ =) B E . )
%5 TH " i & B
7 * = H & % | TEE f & ¢
EMD ERlD BV
EEESOUWEIZE T D1 E OREE
1. & & N &R
L = % A 242 E5HH
+ K % @ it % A 12 55 H
&t A 254 55 M
5 (B B O OB OHE|l B W OB B Bl A 254 2,554 2,300
EEHESEHEE
B OMEICEST L0 E OREE
1. & & N iR
T = & A 3,438 HHH
+ PN % Q% it % A 1,323 H5H
BAa #H & A 42 5FHH
6 (B B @ Bl B B B 2 | A 4803 32,128 27,325 3 A 4,803 EHHH
SCRC -




THAFEE BETER

#2| # m

% |
%

% E
T A

Y\

»
=2
oy
ud
=F

A 7,276

EEP%

[Epas

41,076

W

g i

(ZEE T DikE B DA

2,731 & H
1,552 & H
2,993 B H
7

A
A
A
A T,276 E7H

i

o
)
S

M

A 1,335

e
&R
XA
i
&
A

5,326

A 990 EHHH
A 345 HHH
A 1,335 5




THAFEE RETHER

1 1E ¥ = BE E . 3}
&5 *= " . &t B B
e 7 f %> | T8 " ¢
EMD ERlD BV
B OINEICE T D18 E DORKE
1. & & KN 3
nHLr = A 1,465 B
+ K g R H#H A 591 55 H
\ % it % A 1,703 BHFEM
9 B B ¥ (B & B B B &| A 3,759 18,561 14,802 &t A 3,759 HHH
SER - A= ¢
T EHENE B OB I BT R OJRER
1. & & N iR
nHnVr = % A 1,088 G5 H
+ A % QR # % A 25,372 HHH
RE Ft A 2,525 HHH
10 | B & fE B B B 2 E|lA 29,993 199,585 169,592 DA H & A 1,008 BHHH
i A 29,993 HHM
R -




THAEE BETER

1 1E ¥ B E . .
e = H - — E%M & B BH
2 H & | THEE
ERlD ER:LL) ERIL)
&2 OEAHIE T HIRE DK
1. & & N &R
nr = % A 2,446 EHH
+ PN % Q& #H % A 1,586 HHH
at A 4,032 HHH
11 |18 2 & fE E B B 2 E| A 4,032 27,131 23,099

BEAF DO 7 K OBV B it % %5 D Jih et BACEE T~ 5132 B OJBR

1. & & N &R
(V)L = % A 1,180 &M
+ PN % QxE A 348 HHH
‘ Eia A 1,528 EHH
2 W )i By K W I g R Bl A 1,528 8,179 6,651

ol B R &




THAFEE BETER

1 1E B - BE . )
%5 TH e B B B
- * = H & 7 | TEE : A
EVE] EVE] EVE
BB O | 2B 3~ AR B OJBEE
1. & & N 3§
oL = % A 209 EHH
+ PN # @ it =# A1l 55H
&t A 220 55 M
13 [ )1 B OB OBl owm ) R &l A 220 1,407 1,187
AT )11 B 5% 5 (i &
R INAT T OB 2B B B DR E
1. & & N iR
nHnr = % A 7,016 E5H
+ K % QmF # & A 380 &5
BE it *#H A 1,244 BEHH
14 (% /0 w1 fwl wo I M E B A 8,640 48,252 39,612 B A 8,640 B H
o 3R] )1 K fii




THAFEE RETHER

1 1E ¥ = BE . )
&5 b . i & B
K 7 g s B | Fam| o " é
EMD ERlD BV
B AR R S D EEAi | Z DR B DA
1. & & KN 3
nHLr = A 2,598 HHH
+ K % R H#H A 90 B
HE A 1,541 55 H
15 & B b5 @ e sk W) M E B A 4,330 31,072 26,742 W& H & A 101 EFH
7 A 4,330 5
1= 1A B ) i 3% %
RO % B OV o 1 2 R 5 D B i | Z B4~ D% D IRUEE
1. & & N &R
nHnr = % A 863 EH
+ PN % Q/F # % A 118 HHH
BHE 3t & A 1,003 HHH
16 (W B5 W = % fml W Il M = Bl A 1,984 7,716 5,732 3 A 1,984 EHHH
i B v 5 B

_10_




B

SHAEE HEFEE
1/ = B E . )
5 ® H . #t B
B 7 % S-K
ERIL) ERAL]
RE ORI ROGEFY D L
1. & & KN
()R R OFEFY 1 575H
+ S g
17 | B A B £ B & 1 3,245 3,246
(N B £ )
(=3 i b=
INE DOEAG IS SR8 DOIREE
1. & & AN R
1L = % A 3,070 EHH
+ S # Ox H & A 1,249 55H
Eia A 4,319 55H
18 |2 = fF A = A 4,319 41,683 37,364
N % F &
_11_




THAFEE BETER

S WoE T B [EEl
et & B | THEHE
EVE] EVID BV
YR OEHIZE TS
1. & & N &R
nwr = % A 648 HHH
+ PN ¢ @ it % A 236 EHH
G A 884 HHM
19 |B -G 1 BEEYN = |l A 884 3,286 2,402
Y E O
EFH K OZEERTOREE 123 D& O JREE
1. & & N iR
nHnr = % A 791 E5H
K - R H A 16 H5FHH
BE i A 118 G H7H
20 |5 & 2E % A B K| & = A 925 4,129 3,204 3 A 925 EHH
EAGE IR E

_12_




